Compare mass
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1 Complete the sentences. Use the word banks to help you.
a
cube
die
The is heavier than the
The is lighter than the
b
bear
cherry
The is heavier than the
The is lighter than the
C
die
cherry
ball
The is heavier than the
The is lighter than the
The is equal to the
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1 Complete the sentences and circle the correct answers.

2 cubes are equal to sweet.

cubes are equal to 2 sweets.

One sweet weighs more / less than one cube.

Four cubes weigh more / less than three sweets.

>

1 bear is equal to raspberries.

6 raspberries are equal to bears.
One bear weighs more / less than four raspberries.

Five raspberries weigh more / less than two bears.

>

counters are equal to 1 die.

dice are equal to 10 counters.

Two counters weigh more / less than one die.

Three dice weigh more / less than 20 counters.

>
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1 Complete the sentences. Use the word banks to help you.

a
apple
cherry
The is heavier than the
The is lighter than the
b
bear
cherry
ball
The is heavier than the
The is lighter than the
The is heavier than the
The is lighter than the
C
ﬂ ball
° apple
die
The is heavier than the
The is lighter than the
The is equal to the
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1 Complete the sentences and circle the correct answers.

4 cubes are equal to sweet.

cubes are equal to 2 sweets.

One sweet weighs more / less than three cubes.

Ten cubes weigh more / less than three sweets.

>

2 bear are equal to raspberries.

20 raspberries are equal to bears.
Six bears weigh more | less than 35 raspberries.

50 raspberries weigh more / less than nine bears.

>

counters are equal to 3 pencils.

pencils are equal to 80 counters.

15 counters weigh more / less than one pencil.

Six pencils weigh more / less than 58 counters.

>
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Compare mass

1 Complete the sentences.

w % &

a
The is heavier than the
The is lighter than the
The is equal to the

b
The is heavier than the
The is lighter than the
The is heavier than the
The is lighter than the

C
<[ The ball must have the same mass as the bear. J

Is Che correct?

Explain your answer.
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1 Complete the sentences and use >, < or = to compare the items.

4 cubes are equal to sweet.

cubes are equal to 2 sweets.

Two sweets seven cubes.

Fifteen cubes four sweets.

>

2 bear are equal to raspberries.

20 raspberries are equal to bears.
Six bears twenty-five raspberries.

Thirty-two raspberries seven bears.

counters are equal to 3 pencils.

pencils are equal to 80 counters.

Ten pencils 100 counters.
99 counters Nine pencils.
>
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